Parks Request’s

1. More signage for no dogs on the swimming beaches

2. Educate the public about no boat in the swimming
area, this includes canoes and khakis(they don’t
belong in the swimming area.

3.Spreading of the wood chips at the Heritage trail

4. Need to talk about the 4 or 5 cats left at Gau’s, |
know that he tried to catch the female but failed.
| understand that Margie is feeding them. | feel we
need to take care of them before they get out of
hand like before.



| had chat with Robert Cornell about the airport and
what need to be done for next year.

He is offering the REA crew and chopper, with help from
the Town Crew, three days of brushing out under the
trees on the east side of the airport so there can be more
area for the BBQ and seating.

He also suggested building 8 benches that could be set
around the grounds for seating.

Also it needs a lot of spraying for the poison ivy that is
there and it needs to be kept up



P
4

1> Npp?

e T e -

wmmm'mmm

xxxxx




HandymanWire - Building a Garden Bench

Page 1 of 6

Mhandymanw e

S

i“ “nd\ manWire

’ Building a Bench for your garden
B ALLCS

* Automobdl nobiles Like Bhare 140 people fike this.

Bench Plans

» Ceilings

» Decks

» Doors & Windows
» Drvwall

& Electrical

» Flooring

» Heating

» Masonry

» Miscellaneous
» Qutside

» Painting

» Plumbing

» Roofing

» Trim

» Wallpaper

Search Gur Siwe Materials Wood:

———
i 1
i

- 28 foot axds

= + 48 foot 2x8s
HandymanWire ° 18 foot2x4
Hardware:

+ 24 3/8"x5 1/2" galvanized carriage bolts (washers and nuts)
= 2 3/8"x4" galvanized carriage bolts (washers and nuts
Below are the cutting dimensions:

> Contractor Listings

» About
Handvmanwire Four -8 ft 2x8s

-xpert Forums
le Index

» Hint Index

Local Guides

» All Local Guides Two -8 ftdxds
» Alsbama #

» Alaska (v}

» Arizona

http://www.handymanwire.com/articles/gardenbenchplans.html

%WOOd Floor Refinishing

We buit this bench for along side a trail. Painted or stained or just allowed to weather,
it would look fine in many settings or at the edge of your garden, lake or where ever.

i Locxes s
' -hnéma&ﬁ
By o |

Articies

fiEasv To Install Rcslma -

{Free Constmct(on Bids

i;Yarc? Service

2 localflooringquotes.com/Refinish

i ; STEP 1: Enter Your Zip Code. STEP 2: Get Up To
i F0ur Free Quotes.

9/3/2014



HandymanWire - Building a Garden Bench Page 2 of 6

Cut the three (3) leg frame parts for each side out of the 4x4s. Each 4x4 will yeild one leg frame. See the diagrams and pictures below. The
angles are 15 degrees (or 75 depending on your point of reference) and 30 degrees.

| like to use a square for these, in that case, 4" on one side of the square and 15" on the other side will get you a 15 degree angle. And, 4 5/8"
and 8" will get you the 30 degree angle. (see the diagrams)

The teg frame parts are notched to fit with each other. With the front and back legs resting against a straight edge, measure 11 inches between

them. Lay the cross piece over them so that the top end meets the top of the front leg, and the bottom rests against the straight edge. Mark the
three boards where their notches will be.

http://www.handymanwire.com/articles/gardenbenchplans.html 9/3/2014



HandymanWire - Building a Garden Bench Page 3 of 6

Tap the parts together. Stand them up



HandymanWire - Building a Garden Bench : Page 4 of 6

Ok, cut two (2) sections 19 3/4" long from the 2x4. Lay each against the leg frame. With the back of the board even with the back leg and the
front edge even with the top of the front leg, use a level to find where the board should cross the back of the frame. Mark it with a line where it
crosses the front and back parts of the leg frame.

Also mark the back of the 2x4 where it extends past the legs.
Cut the waste from the 2x4.
w, for drilling holes.. Marked them on the leg frame and drilled them through from the side where the 2x4 will mount (the outside) first. Then

No
setting the 2x4 back in place, Drill through from the other side of the frame into the 2x4. That way the two bolts go through the pair of 4x4 frame
members and the 2x4 in an area on the leg frame that will catch both parts. (see below)

Bolt on the 2x4 seat supports.



HandymanWire - Building a Garden Bench Page 5 0of 6

Cut your seats and seat backs to the desired length. A 7 foot bench looks good, but an 8 foot bench is nice too, and it doesn't leave much waste
on your 8 ft boards.

Next drill and bolt the 2x8 seat backs to the leg frames: Measure/mark the front of the leg frames and the back side of the 2x8 bench backs.
Measuring carefully and marking the frames and the backs, and then drilling the holes on the two parts with the drill starting on the sides of the

wood that will touch each other will ensure that the holes line up and the bolts will go through. Then set the bench seat boards in place and drill
and bolt them in place.

Enjoy...

if you like our plans, and want to send a picture of the bench(es) you build using our plans, email them to me, and | will post them here.



" HandymanWire - Building a Garden Bench ‘ ' Page 6 of 6

Shopping List
All Pressure treated lumber (or your choice)

1. (2) 8ft 4x4s

2. (4) 8ft 2x8s

3. (24) 5 1/2" 3/8" Carriage bolts, and flat washers and nuts (galvanized)
4. (2) 4" 3/8" Carriage bolts, and flat washers and nuts (galvanized)

Like Share 140 people fike this.

7

View
PDF

1) Click the download button
2) This will take you lo our web page
3) Download the FREE product

D

Check out the benches our readers have built: Click Here

Experis | Emali Us | Disclaimer | HandymanWWire rome
Articles | We welcome your fasdback. | Privacy
hﬁp:irwww.handymanwire.cmp

_handymanwire

your rescurce for advice on home improvement and repairs.

e

sopyright ©1988-2014, Handyman USA LLC.
Alf rights reserved.

i



